

Agenda Item Details

Meeting

May 26, 2015 - Regular Meeting

Category

7. Consent Agenda

Subject

7.14 ITB 15-18 Replacement School Bus Seat Covers & Foam, presented by Vince

Windham, Program Director, Purchasing, and recommended by the Superintendent for

approval.

Access

Public

Type

Action (Consent)

Fiscal Impact

Yes

Budgeted

Action

Yes

Budget Source General Funds

Recommended Motion to approve the committee's recommendation to award ITB 15-18 Replacement School Bus Seat Covers & Foam to Ward International Trucks, based on fixed prices.

Public Content

Request approval of the committee's recommendation to award ITB 15-18 Replacement School Bus Seat Covers & Foam to Ward International Trucks, based on fixed prices. Purchases will be made on an as needed basis using general funds. This is a two (2) year contract, effective May 27, 2015 through May 26, 2017. A copy of the award tabulation is attached.

For additional information, please contact Vince Windham, Program Director, Purchasing at (850) 833-7668.

ITB 15-18.pdf (35 KB)

Administrative Content

Our adopted rules of Parliamentary Procedure, Robert's Rules, provide for a consent agenda listing several items for approval of the Board by a single motion. Documentation concerning these items have been provided to all Board members and the public in advance to assure an extensive and thorough review. Items may be removed from the consent agenda at the request of any board member.

OFALOOSA CO

/28/2015

Motion & Voting

Motion to approve the Consent Agenda and all of the Consent Agenda items as recommended by the Superintendent

Motion by Rodney Walker, second by Lamar White.

Final Resolution: Motion Carries

Yes: Dewey Destin, Cathy Thigpen, Melissa Thrush, Rodney Walker, Lamar White

https://www.boarddocs.com/fl/okaloosa/Board.nsf/Private?open&login

ITEM	ITEM DESCRIPTION	EST QTY	UOM		Ward	l Int'l	Trucks
	SEE ATTACHED PRICE SHEETS FOR BRAND/MODEL # INFORMATION			Un	it Cost	Tota	l Item Cost
1	Cover, Seat Back, 1989 - 1991 Models, Blue Bird body, fireproof brown - 39"	105	r.		22.07	e	2.506.25
-	Brand/Model: ZB1410390079	105	Ea	13	23.87	\$	2,506.35
2	Cover, Seat Back, 1989 - 1991 Models, Blue Bird body, fireproof brown - 26"	5	Ea	·	26.50	\$	132.50
3	Brand/Model:ZB1410260079 Cover, Seat Back, 1994 - 2000 Models, Thomas body, fireproof blue - 39"		La	,	20.30	Ψ	132.30
ļ	Brand/Model: ZB4430390069	280	Ea	\$	24.91	\$	6,974.80
4	Cover, Seat Back, 1994 - 2000 Models, Thomas body, fireproof blue - 26"						
	Brand/Model: ZB4430260069	5	Ea	\$	26.50	\$	132.50
5	Cover, Seat Back, 2002 Models, Bluebird body, fireproof blue - 39"						
	Brand/Model: ZB4430390069	5	Ea	\$	24.91	\$	124.55
6	Cover, Seat Back, 2002 Models, Bluebird body, fireproof blue - 30"						
	Brand/Model: ZB443030069	5	Ea	\$	26.50	\$	132.50
7	Cover, Seat Back, 1998 Models, Carpenter body, fireproof blue - 39"	_			• • • •		
	Brand/Model: ZB24100390060	5	Ea	\$	24.91	\$	124.55
8	Cover, Seat Back, 1998 Models, Carpenter body, fireproof blue - 26"	_	Ea	\$	26.50	\$	132.50
9	Brand/Model: ZB2410260060 Cover, Seat Back, 2001 - 2005 Models, IHC body, fireproof blue	3	Са	→	20.30	Φ_	132.30
9	39"	60	Ea	•	24.30	\$	1,458.00
10	Brand/Model: ZB5420390060 Cover, Seat Back, 2007 - Current Models, IHC body, fireproof	00	Ea	1.3	24.30	1	1,438.00
	blue 39" New York ZB 5700390060	5	Ea	\$	27.08	\$	135.40
I1	Cover, Seat Back 2014 Models, IHC body, fireproof blue 39"		La	1	27.00	1	133.40
	ZB5736390060	15	lea	ls	34.49	s	517.35
12	Cover, Seat Back, 2001 Models,US body, fireproof blue 33"			Ť		_	
	US400340060	10	ea	\$	26.50	\$	265.00
13	Cover, Seat Back, 2001 Model, US body, fireproof, blue 33"						
	US400340060	15	ea	\$	26.50	\$	397.50

ITEM	ITEM DESCRIPTION	EST QTY	UOM				
112	SEE ATTACHED PRICE SHEETS FOR BRAND/MODEL # INFORMATION			Un	it Cost	Total	Item Cost
14	Cover, Seat Bottom, 1989 - 1991 Models, Blue Bird body, fireproof brow 39"	-					
	ZB1610390079		Ea	\$	11.77	\$	294.25
15	Cover, Seat Bottom, 1989 - 1991 Models, Blue Bird body, fireproof brown 26"						
	ZB1610260079		Ea	\$	12.52	\$	62.60
16	Cover, Seat Bottom, 1994 - 2000 Models, Thomas body, fireproof blue 39"						
	ZB4610390069	105	Ea	\$	11.48	\$	1,205.40
17	Cover, Seat Bottom, 1994 - 2000 Models, Thomas body, fireproof blu 26"		1				
	ZB4620260069	5	Ea	\$	12.71	\$	63.55
18	Cover, Seat Bottom, 1998 Models, Carpenter body, fireproof blue	-					
1	ZB2610390060	5	Ea	\$	11.77	\$	58.85
19	Cover, Seat Bottom, 1998 Models, Carpenter body, fireproof blu	÷-		Π			
	26"		Į	1		1	
	ZB2610260060	5	Ea	\$	11.77	\$	58.85
20	Cover, Seat Bottom, 2002 Models, Bluebird body, fireproof blue	-					
l	ZB1610390134	5	Ea	\$	12.35	\$	61.75
21	Cover, Seat Bottom, 2002 Models, Bluebird body, fireproof blue	-					
	30"	5	Ea	•	13.13	\$	65.65
22	ZB1610300134 Cover, Seat Bottom, 2001 - Current Models, IHC body, fireproof blue		La	۳	13.13	1	- 05.05
22	139"	<u> </u>	ļ	1			
	ZB5620390060	220	Ea	18	11.48	\$	2,525.60
23	Cover, Seat Bottom, 2001 - Current Models, IHC body, fireproof blu-			Ť		1	
23	26"		.				
	ZB5620260060	5	Ea	\$	12.71	\$	63.55
24	Cover, Seat Bottom 2001 Models, US body, fireproof Blu	e -		Π			
	33"						
	US600340060	15	ea	\$	12.52	\$	187.80

ITEM	ITEM DESCRIPTION	EST QTY	UOM				
	SEE ATTACHED PRICE SHEETS FOR BRAND/MODEL # INFORMATION			Uni	it Cost	Total Iter	m Cost
25	Foam, Seat Back, 1989 - 1991 Models, Blue Bird body - 39" LR0979575	40	Ea	\$	19.99	\$	799.60
26	Foam, Seat Back, 1989 - 2002 Models, Blue Bird body - 26" LR0979542	40	Ea	\$	14.30	\$	572.00
27	Foam, Seat Back, 2002 Models, Blue Bird body - 39" LR0979575	40	Ea	\$	19.99	\$	799.60
28	Foam, Seat Bottom, 2002 Models, Blue Bird body - 39" LR1168517	5	Ea	\$	13.56	\$	67.80
29	Foam, Seat Bottom, 2002 Models, Blue Bird body - 30" LR1168491	5	Ea	\$	10.32	\$	51.60
30	Foam, Seat Back, 1994 - 2000 Models, Thomas body - 39" LRTKC39BK	30	Ea	\$	20.93	\$	627.90
31	Foam, Seat Bottom, 1994 - 2000 Models, Thomas body - 26" LRTKC26ST	30	Ea	\$	9.60	\$	288.00
32	Foam, Seat Bottom, 1994 - 2000 Models, Thomas body - 39" LRTKC39ST	5	Ea	\$	12.17	\$	60.85
33	Foam, Seat Bottom, 1994 - 2000 Models, Blue Bird body - 26" LRTKC26ST	5	Ea	\$	9.60	\$	48.00
34	Foam, Seat Back 1998 Model, Carpenter body 39" LR70819	5	Ea	\$	20.40	\$	102.00
35	Foam, Seat Back, 1998 Models, Carpenter body - 26" LR70816	5	Ea		14.44	\$	72.20
36	Foam, Seat Bottom, 1998 Models, Carpenter body - 39" LR71600		Ea		12.64		63.20

ITEM	ITEM DESCRIPTION	EST QTY	UOM				
	SEE ATTACHED PRICE SHEETS FOR BRAND/MODEL # INFORMATION			Un	it Cost	Total	ltem Cost
37	Foam, Seat Bottom, 1998 Models, Carpenter body - 26" LR71595	5	Ea	\$	8.84	\$	44.20
38	Foam, Seat Back, 2001 - 2005 Models, IHC body - 39" 438622002	35	Ea	\$	27.77		971.95
39	Foam, Seat Back, 2001 - 2005 Models, IHC body - 26" LR43860006	35	Ea	\$	8.44	\$	295.40
40	Foam, Seat Back, 2014 Models, IHC body - 39" 3677444C4	15	ea	\$	51.85	\$	777.75
41	Foam, Seat Back, 2007 - Current Models, IHC body - 39" New York LR438623002	35	Ea	\$	23.71	\$	829.85
42	Foam, Seat Back, 2007- Current Models, IHC body - 26" New York LR438622006	5	Ea	\$	14.03	\$	70.15
43	Foam, Seat Bottom, 2001 - Current Models, IHC body - 39" LR438600002	105	Ea	\$	21.98	\$	2,307.90
44	Foam, Seat Bottom, 2001 - Current Models, IHC body - 26" LR438600006	30	Ea	\$	8.44	\$	253.20
45	Foam, Seat Back, 2001 Models, US body - 33" LRUSB33TK	15	Ea	\$	10.13	\$	151.95
46	Foam, Seat Bottom, 2001 Models, US body - 33" LRUSB33ST	15	Ea	\$	10.13	\$	151.95
	TOTAL FOR ALL ITEMS:			s			27,088.40
	Signed Bidder Preference/State/Percentage:					N/A	
	TOTAL INCLUDING BIDDER PREFERNCE:	1				N/A	

Bidder provided test results documentation to support compliance with DOT Standards per bid?	Yes
Bidder included Statement of Warranty per bid?	Yes
Bidder provided one sample each of a back cover, seat cover & foam back?	Yes
Signed Bid?	Yes

Offers from the vendors listed herein are the only offers received timely as of the above opening date and time. All other offers submitted in response to this solicitation, if any are hereby rejected as late.

BIDDERS WHO BID 'NO BID': NONE NON-RESPONSIVE BIDDERS: NONE

RECOMMENDATION FOR AWARD:

Committee:

Kevin Bell

Jay McInnis

Tim Roberts

Owen Strickland

Committee recommends award to the lowest responsible and responsive bidder, <u>Ward International</u>. All items will be purchased at fixed price as needed throughout the contract term.

FUND	ING			
Fund	Funct	Object	Ctr	Project
1010	7801	0510	9113	
1010	7802	0510	9213	
1010	7803	0510	9313	

[&]quot;Failure to file a protest within the time prescribed in Florida Statutes 120.57, Florida Statutes, shall constitute a waiver of proceedings under Chapter 120, Florida Statutes."

POSTED: 5/13/2015 8:30 AM CT